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Table S1  Sequencing of the B6‐SNV lines.  

Line  Raw (Gbp)  Mapped (Gbp)  Coverage (times)  N of all candidate SNVs*  N of line‐specific candidate SNVs** 

SNVb   27.40  23.83  7.94  9864  3246 

SNVc   20.61  17.21  5.74  9028  2932 

SNVe  14.64  12.24  4.08  7094  2051 

SNVf  6.05  5.14  1.71  2925  1198 

SNVg  28.38  24.25  8.08  6324  1225 

SNVh  23.85  20.03  6.68  9559  2520 

*There were 22911 sites overall:  13172 appeared in only 1 line, 3590 in 2, 2187 in 3, 2212 in 4, 1467 in 5, and 283 in all 6 lines.

**In addition, lines B6.SNVg and B6.SNVh, which are known to be related, share 792 candidate variants that are found in none 
of the other lines. 
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Table S2  The spectrum of distances between 13172 adjacent line‐specific candidate variants. 
Note that 13172 SNVs on 120 chromosomes yield 13052 distances. 

Distance between 

adjacent SNVs (bp)  N of SNVs  Cumulative total  Cumulative % 

1  58  58  0.4 

2  62  120  0.9 

3  50  170  1.3 

4  66  236  1.8 

5  66  302  2.3 

6  38  340  2.6 

7  29  369  2.8 

8  33  402  3.1 

9  27  429  3.3 

10  28  457  3.5 

11  25  482  3.7 

12  28  510  3.9 

13  15  525  4.0 

14  17  542  4.2 

15  20  562  4.3 

16  11  573  4.4 

17  10  583  4.5 

18  16  599  4.6 

19  8  607  4.7 

20  18  625  4.8 

21  15  640  4.9 

22  10  650  5.0 

23  5  655  5.0 

24  9  664  5.1 

25  10  674  5.2 

26‐1000  683  1357  10.4 

1001‐10,000  970  2327  17.8 

10001‐100,000  1696  4023  30.8 

100,001‐1,000,000  5448  9471  72.6 

1,000,001‐45,000,000  3581  13052  100.0 
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Figure S1. Sample size requirements in a progeny test for various fold effects modifying the expected tumor count, both (A) 

without prescreening, assuming 1/100 gametes have a modifier with directional effect shown, and (B) with survival‐based pre‐

screening such that ¼ of gametes have directional effect shown.  Sample sizes are calculated such that a 5% FDR‐controlled list 

of modified kindreds is non‐empty with 95% probability.  In all cases the non‐modified tumor‐count distribution is Negative 

Binomial, with mean 99.8 tumors and shape parameter 9.8, as estimated from control data. Modifiers are assumed to affect 

the mean (and thus the variance), but not the shape parameter.  (Recall that a Negative Binomial distribution has mean mu and 

variance mu*(1+mu/shape) ).  Calculations allow segregation of each mutant modifier within a carrier kindred and use a  

normal approximation for the distribution of average tumor count.  We reckoned that a one‐hit mutagenesis library will 

produce 1/50 gametes carrying some modifier, and that ½ of these may be in a specific direction, and this determined the rates 

used above. Without pre‐screening, the burden of a tumor‐count‐based progeny test is especially high in terms of the number 

of kindreds required to be tested. 
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Figure S2  The candidate SNV sites that are line‐specific or specific to only lines B6.SNVg and B6.SNVh. 
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SNV# Chr Position in Mbp Ref Alt Comment 273 273 274 274 275 275 277 277 278 278 279 279 17 18 18 19 20 21 22 42 43 44 45 46 47 48 49 50 51 51 52 52 53 54 55 56 57 58 74 75 76 77 77 78 79 80 81 23 24 25 26 27 28 29 29 30 31 32 33 34 35 36 37 38 39 40 41 41 59 60 61 62 63 64 64 65 66 67 68 69 70 71 72 73 82 83 84 85 86 87 88 H H

1 1 5.302729 C T T T T T T T T T T T T T C C C C C C C C C N C C C C C C C C C C C C C C C C C C C C C C C C C CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT T T

2 1 24.364357 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA T T

3 1 24.892025 T A N N A A A A A A N A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA A TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA T T

4 1 62.520977 G A Residual heterozygosity in SNVg line? A A GA GA A A A A A A GA GA G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GA GA GA G G G GA GA GA GA GA GA GA GA G G G G G G G GA G G G G G G G G G GA GA GA GA GA GA GA G GA GA G G G G G

5 1 122.147009 C A Divergence of C57BL/6JSD-Min or error in B6 sequence? A A A A A A A A A A A A A N A A N N A A A N A A A A A A A A A A A A A A A A A A A A A A A A A A A A N A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A

6 1 180.126497 A C C C C C C C C C C C C C A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC A A

7 1 193.243734 G C Divergence of C57BL/6JSD-Min or error in B6 sequence? C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C

8 2 13.071988 C A A A A A A A A A A A A A C C C C C C C C C N C C C C C C C C C C C C C C C C C C C C C C C C C CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA C C

9 2 13.602841 C A A A A A A A A A A A A A C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA C C

10 2 80.752192 A G G G G G G G G G G G G G A A A A N N A A A N N A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG N AG AG AG AG AG AG N AG N AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

11 2 86.035456 A G G G G G G G G G G G G G A A A A A A A A A N A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

12 2 92.795540 A T T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

13 2 163.475399 A T T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

14 2 166.439866 A T T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT A A

15 2 169.097573 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG N AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG A A

16 3 18.943706 A G Residual heterozygosity in SNVg line? G G G G GA GA G G GA GA G G A A A A A A A A A A A A A A N A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG A A

17 3 34.883948 C G Error in SNVg sequence? C C C C C C C C C C C C C C C C N N C C C N C C C C C C C C C C C C C C C C C C C C C C C C C C C C N C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C N C C C C C C C

18 3 90.042405 A T Residual heterozygosity in SNVg line? (Some F1s have TA parents?) T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT A AT AT AT AT AT A A AT AT A AT AT AT AT AT AT AT A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT A AT A A A A A T T

19 3 103.152919 T A Residual heterozygosity in SNVg line? A A A A A A A A A A AT AT T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA T T TA T T TA TA TA TA TA TA TA T TA TA TA TA TA TA TA TA TA TA T T T T TA T TA T T T T T A A

20 3 111.362349 T A Residual heterozygosity in SNVg line? A A A A TA TA TA TA A A TA TA T T T T T N T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA T T TA T T TA TA TA TA TA TA TA T TA TA TA TA TA TA TA TA TA TA T T T T TA T TA T T T T T A A

21 3 147.989263 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

22 3 158.387762 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC N TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

23 4 38.871440 G A Residual heterozygosity in SNVg line? G G AG AG G G G G G G G G G G G G G N G G G G N G G G G G G G G G G G G G G G G G G G G G G G N G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G

24 4 62.641037 G A A A A A A A A A A A A A G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA G G

25 4 100.367488 G A A A A A A A A A A A A A G G G G G N G G G N G G G G G G G G G G G G G G G G G G G G G G G G G GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA A A

26 4 115.604952 T C C C C C C C C C C C C C T T T T N N T T T T N T T T T T T T T T N T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

27 4 121.301017 G A A A A A A A A A A A A A G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GA GA GA A GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA A A

28 4 149.769288 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

29 4 150.133170 C T T T T T T T T T T T T T C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT T T

30 4 153.581687 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG G AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

31 5 33.106489 A T T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT A A

32 5 64.957757 G A A A A A A A A A A A A A G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GA GA GA GA GA N GA GA GA GA GA GA N GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA A A

33 5 89.725741 T A A A A A A A A A A A A A T T T T T N T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

34 5 131.702975 T C Residual heterozygosity in SNVg line? CT CT CT CT CT CT CT CT C C CT CT T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC T T T T T T T T T TC T T T T T TC T TC T T TC TC TC T TC T TC T TC TC TC TC T TC T T T T

35 5 133.487313 A G Residual heterozygosity in SNVg line? AG AG AG AG AG AG AG AG G G AG AG A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG A A A A N A A A A AG A A A A A AG A AG A A AG AG AG A AG A AG A AG AG AG AG A AG A A A A

36 5 147.703134 G T Residual heterozygosity in SNVg line? G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GT G GT G G G G G G G G G G G

37 6 4.787012 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA T T

38 6 5.803006 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG A A

39 6 8.781430 A T Residual heterozygosity in SNVg line? T T T T AT AT AT AT AT AT AT AT A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT A A

40 6 66.187395 T A A A A A A A A A A A A A T TA T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

41 6 70.791538 A T T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

42 6 73.608798 A T T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT A A

43 6 124.594781 C A A A A A A A A A A A A A C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C CA CA CA N CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA A A

44 6 143.049596 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

45 6 143.305050 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG A A

46 7 3.958532 A G G G G G G G G G G G G G A AG A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

47 7 4.095798 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

48 7 5.266464 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

49 7 71.316523 A G G G G G N G G G G G G G A N A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG N N AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

50 7 74.146929 C A A A A A A A A A A A A A C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA CA A A

51 7 81.068530 A C C C C C C C C C C C C C A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC C C

52 7 144.802730 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

53 7 150.650158 T A A A A A A A A A A A A A T T T T T N T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

54 8 5.205948 A G G G N G N G G G G G G G A N A A N A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG N AG AG N AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

55 8 55.132916 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

56 8 62.279801 T A A A N A A A A A A A N A N T T T T T T T T N T T T T T T T T T T T T T T T T T T T T T T T T T N N A N TA TA N TA TA N TA TA T N TA TA TA T TA TA TA TA TA TA N TA TA TA N TA TA N TA TA TA TA TA N TA N TA TA TA TA A A

57 8 67.851300 T A A A A A A A A A A A A A N TA T T T N T T T T T T T T T T T T T T N T T T T T T T T T T T T N T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA N TA TA TA TA N TA TA TA TA TA TA TA TA TA N TA TA TA TA TA TA TA TA TA TA TA A A

58 8 122.014441 C T T T T T T T T T T T T T C C C C C N C C C C C C C C C C C C C C C C C C C C C C C C C C C C C CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT T T

59 8 130.725302 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

60 9 3.355103 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

61 9 58.980291 T C C C C C C C C C C C C C T T T T N N T T T N N T T T T T T T T T N T T T T T T T T T T T T T T TC TC TC N TC N N TC TC TC TC TC N TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

62 9 59.427988 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

63 9 59.923090 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

64 9 121.983494 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG

65 9 123.360537 A C C C C C C C C C C C C C A A A A A A A A A N A A A A A A A A A A A A A A A A A A A A A A A A A AC AC AC N AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC A A

66 10 10.786325 T C C C C C C C C C C C C C T T T T T N T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

67 10 11.098858 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

68 10 57.190158 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC N TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

69 10 62.035095 C G G G G G G G G G G G G G C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC C C

70 10 66.689311 A G G G G G G G G G G G G G A GA A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG A A

71 10 109.257340 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

72 10 123.317447 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

73 10 129.374008 A T T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

74 11 3.787132 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

75 11 4.900991 T C C C C C C C C C C C C C T CT T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC N TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

76 11 11.641179 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA T T

77 11 50.562467 T A A A A A A A A A A A A A T T T T T N T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA T T

78 11 52.819542 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA T T

79 11 57.233123 T A A A A A A A A A N A A A T N T T T AT T T T N T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA N TA TA N TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA N TA TA T T

80 11 57.867072 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG A A

81 12 33.615011 G C C C C C C C C C C C C C G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC G G

82 12 54.354542 T G Divergence of C57BL/6JSD-Min or error in B6 sequence? G G G G G G G G G G G G G G G G N N G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G

83 12 80.235867 C T N T T T T T T T T T T T C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C CT CT CT N CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT C C

84 12 81.291157 A G Divergence of C57BL/6JSD-Min or error in B6 sequence? G G G G G G G G G G G G G G G G G N N G G N G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G

85 12 105.759639 T C C C C C C C C C C C C C T CT T T T N N T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

86 12 120.135170 A G G G G G G G G G G G G G A A A A A N A A A AG A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

87 13 6.640675 G T Residual heterozygosity in SNVg line? GT GT GT GT GT GT GT GT T T G G G N G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GT GT GT GT G G GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT GT G G GT GT G G G

88 13 47.824440 A T T T T T T T T T T T T T A A A A A A A A A N A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

89 13 55.867482 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

90 13 61.751085 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

91 13 65.027461 A T T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT N AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

92 13 74.048617 A T T T T T T T T T T T T T A A A A N N A A A N A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT N AT A N AT AT N AT AT AT N AT AT AT AT AT AT AT AT AT N AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

93 13 79.884326 T C C C C C C C C C C C N C N T T T T N T T T T N T T T N T T T N T N T T T T T T T T N N T T N N N N TC T TC CT N TC TC TC TC C N TC TC N TC TC TC N TC N N N TC N N TC TC TC N TC N TC TC TC N TC TC TC N TC TC TC C C

94 13 86.666847 A T T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

95 13 104.472544 A T T T T T T T T T T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

96 14 26.155792 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

97 14 26.401754 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

98 14 30.544809 A T T T T T T T T T T T T T A A A A A A A A A A N A A A A A A A A A A A A A A A A A A A A A A A N AT AT AT N AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

99 14 30.946896 A T T T T T T T T T T T T T A A A A N A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

100 14 46.149716 A G Divergence of C57BL/6JSD-Min or error in B6 sequence? N N N G N G N G N G N G N N N N N N N G G N G G G G G G G G G G G G G N G N G G G G G G G G G N N N N N N G N N N N N N N G G N N N G N G G G G G G G G G G G G G G G G G G G G G G G N N

101 14 100.737154 G A A A A A A A A A A A A A G G G G G G G G G G N G G G G G G G G G G G G G G G G G G G G G G G G GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA A A

102 14 113.754158 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG A A

103 14 121.861284 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA AT AT

104 15 38.229258 C A A A A A A A A A A A A A C C C C N C N C C N C C C C C C C C C C C C C C C C N C C C C C C C C C CA CA N CA CA CA CA A N N N N CA CA CA C CA N CA CA CA CA CA CA CA CA CA CA CA CA CA A N CA CA CA CA CA CA CA CA N N C C

105 15 48.848623 C T T T T T T T T T T T T T C C C C C C C C C N C C C C C C C C C C C C C C C C C C C C C C C C C CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT C C

106 15 67.070573 A T T T N T T T N T T T N T A A N A A A N A A N N A A A N A N A A A N A A A A N A A A N A A A N N N AT AT N AT AT AT AT AT N AT AT N N AT N AT AT AT N AT AT AT N N N AT AT AT AT AT AT N N AT AT AT AT AT AT N AT AT AT A A

107 15 68.238007 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

108 15 69.326478 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC N TC N N TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

109 15 75.470213 C T T T T T T T T T T T T T C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT T T

110 15 97.166271 G A A A A A A A A A A A A A G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA G G

111 16 4.326353 T C C C C C C C C C C C C C T N T T T N T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

112 16 8.408387 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

113 16 51.057183 A T T T T T T T T T T T T T A N A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

114 16 60.982869 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

115 16 74.056355 G A A A A A A A A A A A A A G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA A A

116 17 3.965860 T C C C C C C C C C C C C C T T T T T T N T T N T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC N TC TC TC TC TC N TC TC TC TC TC N TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

117 17 4.540288 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

118 17 20.613567 A C C C C C C C C C C C C C A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC AC C C

119 17 61.879510 A T T T T T T T T T T T T T A N A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

120 17 66.837473 A G G G G G G G G G G G G G A A A A A A A A A A N A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

121 17 80.346021 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

122 17 80.475738 T A A A A A A A A A A A A A T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA N TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

123 17 87.431487 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

124 18 24.352042 T G G G G G G G G G G G G G N N T T N N T T N N T T T T T N N T T T N N N T T N T T T N T T T T T N TG TG N TG N N TG N TG N N N N N N N TG TG TG TG TG N TG TG TG TG TG TG TG TG TG N TG TG TG TG TG TG TG N TG TG TG T T

125 18 37.202767 G A A A A A A A A A A A A A G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA GA G G

126 18 52.510757 G C C C C C C C C C C C C C G N G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G G GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC GC G G

127 18 61.068960 T C C C C C C C C C C C C C T TC T T T N T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC C C

128 18 63.999457 C T T T T T T T T T T T T T C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C C CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT CT T T

129 18 65.850466 A T T T T T T T T T T T T T A A A A A A A A A N A A A A A A A A A A A A A A A A A A A A A A A A A AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT A A

130 18 80.752724 T C C C C C C C C C C C C C T T N T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

131 18 86.898601 T A A A A A A A A A A A A A T T T T T T T T T N T T T T T T T T T T T T T T T T T T T T T T T T T AT AT AT T AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT AT T T

132 18 87.246375 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC N TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

133 19 6.679272 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG G G

134 19 7.416588 T A A A A A A A A A A A A A T T T T T N T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

135 19 11.408539 T A A A N A A A A A A A N A T T T T T T T T T N T T T T N T T T T T T T T T T T T T T T T T T T N TA TA TA N TA TA TA TA TA N TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA N TA TA TA TA TA TA TA TA TA TA TA T T

136 19 13.077497 A T T T T T T T N TA T T T T A A A A A N A A A N N A A A A A A A A A N A A A A A A A A N A A A A A AT TA N AT AT AT N AT AT AT AT N AT AT N AT AT AT AT AT AT AT AT N AT N N AT N N N N N AT AT AT AT AT AT N AT AT AT N A A

137 19 14.755775 A T T T T T T T TA TA T T T T A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A TA TA TA N TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA TA A A

138 19 17.458467 A G G G G G G G G G G G G G A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG A A

139 19 21.666974 T C C C C C C C C C C C C C T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T T TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC TC T T

140 19 59.339956 A G G G G G G G G G G G G G A N A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG AG A A

Results of Sequenom validation tests of DNA from 31 C57BL6/6JD‐ApcMin, 6  B6.SNVg, 1 B6.SNVh, and 41 (C57BL/6JD‐ApcMin x B6.SNVg)F1 mice.  
Note that 14 of the samples were run twice (gray‐coded animal ID cells).  Data from B6 and B6.SNVg sequences are shown in columns D and E, 
respectively.  Unexpected Sequenom results are highlighted in red.  For 11 of the positions, the unexpected results in the B6.SNVg mice and/or the 
F1s are consistent with residual heterozygosity in the B6.SNVg line (see comment column).  The unexpected results at 5 positions are consistent 

with either an error in the canonical B6 sequence or genetic drift in C57BL/6JD‐ApcMin. 

Supporting Data File S1




